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Oet ot 29 =2 M
60,0003 *6H A 360 0 360
OZtet gt 28 22 A7
10,0002 = 1000H 1,000 0 1,000
IIEEL HHEAMSE 2Z2el 16,770 0 16,770
201 Lt 6,770 0 6,770
01 AtR2telbl 5,750 0 5,750
OAFHAZ MFHY P 250,000 +58 1,250 0 1,250
OAIEE AHEZ L ANESXH S 222
- 100,000 #52 500 0 500
OJIEE0L tHEMSE & 212 LEEHAM
= 200, 000& *203] 4,000 4,000
02 3224l 1,020 1,020
OJI=E2h HHEAE 22 U8 fE=
3,000& * 1707 2 #23] 1,020 1,020
401 AIEHIZL 200 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OJEEAE MHet+S XNE&d HEME
10,000,000& *13] 10,000 0 10,000
HIlZ2 88 & 2l 1,440 0 1,440
201 =3 1,440 0 1,440
01 A2t 1,440 0 1,440
OHIIZ AHE 2 88 2 H&
60,000& 123 720 0 720
OHEAMSE X=HAE B (HZ S)7Y
60,0002+ 12042 720 720
SHEHDISSE ML 8X2Y 311,000 311,000
= 217,000 217,000
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2A:

RZH

ol

#2430}
HOI2 XHsHEZ/HOIS)
SOIEHDISESHINL SXI2Y

SA -3 SRA(SAH) - NIRALY - Off &K N3 Hws2Z
= 47,000 0 47,000
= 47,000 0 47,000
HIISH2IAIE &3 311,000 0 311,000
2 217,000 0 217,000
= 47,000 0 47,000
2 47,000 0 47,000
401 AIEHIL 2T 311,000 0 311,000
= 217,000 0 217,000
< 47,000 0 47,000
2 47,000 0 47,000
01 Al 311,000 0 311,000
OFE SOHEHIIS MelA& SXIAY
311,000,00024* 14 A 311,000 0 311,000
= 217,000 0 217,000
< 47,000 0 47,000
2 47,000 0 47,000
HApel(22/HDIZ) 662,207 0 662,207
2 75,000 0 75,000
= 587,207 0 587,207
2EWHL2E L Vo8 28 662,207 0 662,207
= 75,000 0 75,000
2 587,207 0 587,207
2E HHASS FH(2AHI) 3,479 0 3,479
101 QI1218)| 3,479 0 3,479
VPEDEEP =R 3,479 0 3,479
O=M S s2™ES Ay 3,479 0 3,479
—|1=3 7696021 %20 23] 3,079 0 3,079
L] 200,00021#23] 400 0 400
=€ ERes &N 379,230 0 379,230
201 LBr2eY) 79,230 0 79,230
01 AlR22lH] 79,230 0 79,230
OBAZRUSE 222 NN L HLEE 7
o 16,230 0 16,230
—8 2SS 4 HH
4,160,0002/+18] 4,160 0 4,160
—HA2USS 82 7Y
2,414,00021+58] 2,070 0 12,070
OYXIHIIS FH B YR2
500, 00024 *40CH 20,000 0 20,000
OMAMYD| Hel 2BEE 7o
2,000,0002! 14 2,000 0 2,000
Oy SRS 2ENE WA
5,500,000 23] 11,000 0 11,000
OMI| 22l4HE 79
1,000,002 * 107 10,000 0 10,000
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5 tEz2s ¢ ﬂ\)g%?é g2 (SH &)
SA B O9I(SH) - MRALY - BAS o v o ® o RS2
OYXI(AMLZEHDIIZE Mel =&
10,000,000& =23 20,000 20,000
405 KHAHH SH] 300,000 300,000
01 M ESFH SHI 300,000 300,000
OMats HAX -
150,000,000 *2CH 300,000 0 300,000
MYDISEM(MDISEHEI & 18IEE MAELA) F 28,798 0 28,798
Zl(elzdl)
101 e124d| 28,798 0 28,798
04 JIZtNZ22XSE = 28,798 0 28,798
oDl S8SI| &= 23 22| 28,798 0 28,798
—Jl==s 76,9602 x1F 270 20,780 0 20,780
—=5+d 76,9603 » 1 +60== 4,618 0 4,618
—MIEEZ 200,000 1200 & 2,400 0 2,400
—a0= 500,000& 22| 1,000 0 1,000
&IE'|D|ZC>:—_%X‘||(&E|D|%§—'.E—D| 2 158 MEYN) F 100,700 0 100,700
&
201 L= 10,000 0 10,000
01 AFR2t2ltl 10,000 0 10,000
OdEHDIZ & SAEF ZCItiE 222
N[ES 5,000,000 23] 10,000 0 10,000
206 =4I 90,000 0 90,000
01 =4l 90,000 0 90,000
OMYDIEEH HASE MAH(51 2 68)
40,000,000& 22! 80,000 0 80,000
OSASMYIIZEH #ZHEF =522 6
) 5,000,000& 23] 10,000 0 10,000
301 LEN= 700 0 700
14 J|EtE2 4 S 700 0 700
OMeDl SYEI| A1 Zag
50,000& *14H 700 0 700
Mesg suoteg ExIX 150,000 0 150,000
= 75,000 0 75,000
s 75,000 0 75,000
401 AlIEHIZL 2 0HYI 150,000 0 150,000
= 75,000 0 75,000
[ia 75,000 0 75,000
01 AlZHI 150,000 0 150,000
ONgE sulotg EXIAE
15,000,000 *109H 2~ 150,000 0 150,000
= 75,000 0 75,000
s 75,000 0 75,000
S eldiE 222 (BZ/HDIS)(EE/HIIS) 6,967,089 0 6,967,089
= 1,060,500 0 1,060,500
< 58,100 0 58,100




FA EdsE21
I FACIHE 22 (SF/HDI2)(23/HII2)
Selr HDIZE MelAlE 29 2l EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
z 5,848,489 0 5,848,489
HYIZ M2AE 2 22 6,656,245 0 6,656,245
= 1,000,000 0 1,000,000
i 5,656,245 0 5,656,245
MEHIIZ MelAd 2 2l 2,697,497 0 2,697,497
201 Let2aY| 913,412 0 913,412
01 Al 2telHl 202,647 0 202,647
OMBIPDI A28 F(Zed EY 2| 53)
250,000 53 1,250 0 1,250
ogia 3+ 7Y 180,000 12 180 0 180
OFAt2e| 28 7Y (FL, AYES S)
500,000 %32 1,500 0 1,500
OHEE =22 AZTHHE Y
2,000 10074 200 0 200
OXAX AMESA(0IAT, ESAE S)7
& 120,000 1200 & 1,440 0 1,440
O 2eHE 222 h 2R=S-2gY=s
170,000 x6 & »22| 2,040 0 2,040
Ot 2eldE 222 2R=-2485
150,0002«6Z * 12 900 900
Odatx d4 =8 200,000 *12 200 200
ORQIBHl 8% =&
170,000& 129 & 2,040 0 2,040
OV |AI 2t
330,000 1291 2 3,960 0 3,960
OsZI| HIIZA =2
200,000 13 200 0 200
OANgEE Hgetd =83+28
600,000 +12 600 0 600
OAgotd HIHEY =5
1,200,000& 23] 2,400 0 2,400
OZE= HMelAld RRze A28 7(Y
E 2 108) 400,000+ 12942 4,800 0 4,800
OAZAIE A2l 28 7Y
2,000,000& 12042 24,000 0 24,000
OA2AIE 2] FIIZM =2
200,000 13 200 0 200
OLZAIE ™S E=BA ===
5,000,000& 13 5,000 0 5,000
OB 2HEI| HIIUM =22
35,0002 «2CH+12 70 0 70
OZ0IAE, Tl EIIBA =8
177,000 12 177 0 177
OXZIAIE Tl BHEAIE TI=SE AS =+
T2 7,500,000& 1294 90,000 0 90,000
O2ZAlE LoI=sd SEHES =8
5,000,000& 12 5,000 0 5,000
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2A:
T ZH -
(=

=aak

el 2g2el(2Hd/HDI2)(83/H0I8)

HIIZ2 XMelAd 2F 22

SA -3 - A(3) - MISA - B85 Off &K N3 Hws2
OAZAAIE CHEILSE Eotad SHEA
228 4,500,00024+23] 9,000 9,000
OHIIZ 9IEtHel 442 (HOE S)
5,000,00024+63] 30,000 30,000
OAZEAIM A =42 (BT H22A S)
500,000 43| 2,000 2,000
ONBE HE4 +TAN
350, 00021201 2 4,200 4,200
OME st AR TN
200, 0002 %300 A #43] 2,400 2,400
O+ |z +48
20,0002 1274 2 2,400 2,400
O=8)| |z +a2
20,0002 1274 2 2,640 2,640
OsBBRIME VRISt
350,0002011CH 3,850 3,850
® B2l 710,765 710,765
OsABRIME HIINEE
11,000, 0002 127} & 132,000 132,000
OBABRIME 2CAIBE
1,500, 0002 120} 2 18,000 18,000
OsFBUME S4B
110,00024* 1274 2 1,320 1,320
OBABRIME A8Es|H|
84,0002+ 15| 8 8
OA2AIE ei2Y|
1,640 %4, 8502 £1 12012 9,448 95,448
Os2I| 2XR4H| 180,00024* 127} 2 2,160 2,160
Oz 22 o T2 nH
5,000,00024*13] 5,000 5,000
OBABRIMEl AEH| SX24H]
3,000,0002%23] 6,000 6,000
OASLHI (W, L, 918 24) SX24H]
20,000,00024%23] 40,000 40,000
OMEAIE X2 5,000,00024%23] 10,000 10,000
OMBEE HEAL SN2t
5,000,0002 23] 10,000 10,000
OAZAIE IS 22 SX2IH-ZETZ
1,800,0002 13} 1,800 1,800
OBAMEES =X CIHEI
810,00024+13] 810 810
OME T 540,000 24 43| 2,160 2,160
OWHEE JIA U S0
1,500,0002+63] 9,000 9,000
OFH2l & 6,500,00024*13] 6,500 6,500
OA2HAIE JIHRHI(2E 2) DA
750,000 63| 4,500 4,500
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A SEE
M st |MdE 2Z22(F/HDI2)(8F/HDI2)
S HOIZ2 HMelAE 29 22| (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b Il & o SimE==t
OaZtAld 2dIel A2, AHolE WAl
4,000,000 23] 8,000 8,000
OL2AId 3ol ClA3 L 2010 WAl
4,000,000& 23] 8,000 8,000
OXZAId ZHI0IH S B
4,500,000 *13] 4,500 4,500
OL2ZAIE AT 2 UEE B+
5,000,000 13 5,000 5,000
OLZtAd 22 A&
5,400,000 *13] 5,400 5,400
OAaZAd SILFI| |A&
1,000,000 = 1201 & 12,000 12,000
OLZAd TS FRI22]
2,500,0002*12I0 & 30,000 30,000
OLZtAlIA HIAH |IEEHe
520,000 *240E 124,800 124,800
OL2ZAIE BHESHANE SSHAHEX R
N2 5,000,000& 23] 10,000 10,000
OazZAd BEHelAME PLC 23
4,000,000 23] 8,000 8,000
OgreD| & M=l ==clhl
300,000:& *3CH 900 900
ogll & =D #&% F2-8%
1,890&+3,5002| £ 6,615 6,615
O=lg= 1,800 *6002| & 1,080 1,080
Otz 2te|de ek, S| SXI=eldl(8CH)-
i, BI BA =2
50,000 +8CH 400 400
OxtgF, &I gXl2ell
3,500,000 *8CH 28,000 28,000
Oxtg, &I #54|
1,890& *2,4002| E4+BCH 36,288 36,288
OdtEd Xl AEZAE 7R E=H]
4,000,000 23] 8,000 8,000
Ostd2e|dlE IIAE SAE2=4|
4,000,000& 23] 8,000 8,000
Ot 2CIHE U2 |24
5,000,000 63| 30,000 30,000
OLZAE QA BT S B2
1,000,000 *2CH 2,000 2,000
OAZtAld (HERD| &8 5 B
5,000,000&*13] 5,000 5,000
OAXZAIE B2t 2 HE S WA
4,000,000 *43] 16,000 16,000
OL2AE 243 SZEIZ WA
2,000,000 *43] 8,000 8,000
206 M=4| 127,450 127,450
01 M=l 127,450 127,450

_18_




SN SASED
HH: SHDL|MEH SR (EFZ/HOIS)(BH/HDIIS)
S HOIZ2 HMelAE 29 22| (St &)
A -3 - A4A(3H) - MRAY - BES Oil FoH J| & o Hus2
OBHHZRIME L 012012 gt o= qg
,0002 40 E#23] 2,800 0 2,800
OHJIZ MEXE e3H 2
75,0002 x5 E#23| 3,750 0 3,750
OZZE2 HMelAla Sgor= nol(ghatar2
ls, JIEALH 3,000,000 13| 3,000 0 3,000
OFE &4 HMelAld DA L SAE 1)
2,500,000 13| 2,500 0 2,500
O8Yd NEAZE ol 600,000 13 600 0 600
OAZAE SHAZE Dol(AS AM3]
MM, EBHEH A2)
7,500,000+ 123 90,000 0 90,000
OxH42 222 U2, S, &42H 2
800,000 * 13 800 0 800
OUZIEr SAF S 200
3,000,000 23] 6,000 0 6,000
Oa2A2 LE(QAz S)20H
1,800,000 103 18,000 0 18,000
301 YetEX2 40,635 0 40,635
14 JIEtE A2 40,635 0 40,635
OZ=0l AR 4%
76,9602 x222 2% x 1201 2 40,635 0 40,635
307 QIZH0I & 1,250,000 0 1,250,000
05 DIZEQIErZ2 1,250,000 0 1,250,000
OAZAIE 2HE 22|
104, 166,666 2 * 1271 & 1,250,000 0 1,250,000
308 XHXISHHISOI A 120,000 0 120,000
12 Jlereg= 120,000 0 120,000
OHDISXHE S2(sF2e|My A2t &
OHE AFZ HDIZ)
120,000,0002 %13 120,000 0 120,000
401 Al HIZL 200 246,000 0 246,000
01 AlAH 246,000 0 246,000
OA2Z HEIE B2 At
20,000,000 *23] 40,000 0 40,000
OAZ Al 324X WAl
5,000,000 23] 10,000 0 10,000
OIS OIS 2HI0I10f B4 Z A
20,000,000 %23 40,000 0 40,000
OUEHIIZ A Hel 2 =
20,000,000 *235] 40,000 0 40,000
OAZAIE T DA
25,000,000 13| 25,000 0 25,000
OA2AIE OJDHE WAl
25,000,000 *13] 25,000 0 25,000
OAa2t2 1,27 HOIE DA 2 24
7,000,000 23] 14,000 0 14,000
OA22 QB B4 2,000,000 *135] 2,000 0 2,000
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SN BALEDY
B sAlME 2EI(8/HIIS)(22/HI2)
SRl HDIZ HelAld 29 22 (cre): xg)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
OOBFE| 2% & &1 24
25,000,00021+23] 50,000 0 50,000
MBHDIZ HelAE 29 22l(212) 461,228 0 461,228
101 Q124 461,228 0 461,228
VBIELEES=T=E 461,228 0 461,228
oJl=a 76,9602 162 +2552 313,997 0 313,997
OxF+Y 76,9602 163 +525 64,031 0 64,031
L] 350, 00021 +162* 124 2 67,200 0 67,200
Ou012 500, 0002162 +25] 16,000 0 16,000
MBHIIZ HelAld FBXQ FoINS 142,520 0 142,520
201 2er2 ] 2,520 0 2,520
01 AlR 22l 2,520 0 2,520
OBATRIME FUXNVOAH BHLL
70,0002 924 x43] 2,520 0 2,520
T EEST] 140,000 0 140,000
o1 Alt 140,000 0 140,000
OB ZRIME FHAY FOIX AL (32
g, FX 801, 2E 24, 25])
20,000,000 %704 140,000 0 140,000
MEHDIZ HelAE HAAL (T &) 3,355,000 0 3,355,000
2 1,000,000 0 1,000,000
2 2,355,000 0 2,355,000
401 A& Bl L= ChY| 3,355,000 0 3,355,000
2 1,000,000 0 1,000,000
2 2,355,000 0 2,355,000
01 Alt 3,049,000 0 3,049,000
OL2AE SIMNL(ES, AF, J1H, &)
3,027,000,00024* 17 £ 3,027,000 0 3,027,000
2 908,200 0 908,200
2 2,118,800 0 2,118,800
OL2AAE JI2 2 AAEN ZHS 2E 8
24 (VE) 22,000, 00024174 2 22,000 0 22,000
02 22yl 300,000 0 300,000
OA2ANE XM 228
300,000, 00024174 2 300,000 0 300,000
2 9,000 0 90,000
2 210,000 0 210,000
03 Al& 2CHHI 6,000 0 6.000
OA2AAIE EXIMS AR
6,000,000+ 144 6,000 0 6,000
2 1,800 0 1,800
2 4,200 0 4,200
MBHDIZ 2l & RS 310,844 0 310,844
2 60,500 0 60,500




M SF=E21
M sAALHYH Y2 (SHE/HIIS)(8Z/HDI8)
Selr MEHllIE 2l & IEs (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
(= 58,100 0 58,100
i 192,244 0 192,244
SZEHHIY =H K& 280,000 0 280,000
= 56,000 0 56,000
S 56,000 0 56,000
s 168,000 0 168,000
301 2 &= 280,000 0 280,000
= 56,000 0 56,000
S 56,000 0 56,000
s 168,000 0 168,000
14 J|EtE2a=S 280,000 0 280,000
O=sZHHIE 1243 X
100&+2,800,000kg 280,000 0 280,000
= 56,000 0 56,000
= 56,000 0 56,000
= 168,000 0 168,000
gsmie 3% =X 2 10,000 0 10,000
201 ZEet2& ] 10,000 0 10,000
01 AtR2telbl 10,000 0 10,000
OgsHII2 SSHoE ||
2,000,000 *5H 2 10,000 0 10,000
MEHIIE HEE 2 5,844 0 5,844
201 L2 5,844 0 5,844
01 AtR22telbl 5,844 0 5,844
OZAMXIY MEHI|IE 2 TH2
121,000& »242 2,904 0 2,904
OMEEE 28X T2 & Xz
140,000 & *62 840 0 840
OZX& sl +=HIY &4z
140,000& 103} 1,400 0 1,400
OMEEE ZeltiE E22(AEZH, ME)T
& 350,000 *22 700 0 700
gdsHoiE =H K& 15,000 0 15,000
= 4,500 0 4,500
= 2,100 0 2,100
= 8,400 0 8,400
401 AlEHIZL 2] 15,000 0 15,000
= 4,500 0 4,500
= 2,100 0 2,100
[ia 8,400 0 8,400
01 AlZH| 15,000 0 15,000
OgslllE ssdotE =5 NIMY
5,000,000 *37H & 15,000 0 15,000
= 4,500 4,500
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M SF=E21
M sAALHYH Y2 (SHE/HIIS)(8Z/HDI8)
Selr MEHllIE 2l & IEs (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
(= 2,100 0 2,100
s 8,400 0 8,400
A Al 2e|(B /A6t E - +3) 11,600 14,600 A3,000
Nea=E AIE2Y 11,600 14,600 A3,000
Aot=E AN A 0 3,000 A3,000
203 2R 0 3,000 23,000
03 AIMF=ZI AR 0 3,000 A3,000
OAHFL FRF2H| JE0R 0 3,000 23,000
HY2HZHI(Z =) (DIEHDIE) 217,569 77,442 140,127
eI 2] 124,190 39,548 84,642
el 2| 124,190 39,548 84,642
101 @124H| 124,190 39,548 84,642
01 2= 124,190 39,548 84,642
Ostd==&u AIZte 22 124,190 39,548 84,642
— gy 124,190 39,548 84,642
6=
ZE12,213+6F+40A 212002 35,485 17,743 17,742
=
211, 1302482 +40AI 2t 124 B 42,740 8,014 34,726
8=
ZE9, 02 +5H*40AI 2120 E 23,981 7,19 16,786
- 9=
ZEI, 160R*5F+40AI 212002 21,984 6,59 15,388
Jl=3H 93,379 37.8% 55,485
Jl2dHl(eZ+=2n) 38,020 10,840 27,180
201 LB2 ] 37,340 9,760 27,580
01 AFS2t2ltl 25,840 9,760 16,080
OS2l HI2FA ARES 7¢
ZE10,0003 x34H * 1204 2 «80% 3,264 1,056 2,208
Otd==21 ARFX M} SAISX 2
ZE25,0002 *34B+0.62F Ax 1200 2 +80% 4,8% 1,584 3,312
O3+ YR =g Xz
Z&330,000& =201 =120 & 7,920 3,960 3,960
Ogtd+Z1 Ty EH 7 (SW)
ZE250,000& #4432 4,000 1,000 3,000
Ostd+Z1 T2iH E4 Fe(2d)
2 E300,000& #4443 4,800 1,200 3,600
02 2324l 11,500 0 11,500
Ostd=21 Ite 282 11,500 0 11,500
—SESEI 2= 1,000,000 *1CH 1,000 0 1,000
—283EA 282 900, 000& *5CH 4,500 0 4,500
—UEst=Ex 282 1,000,000& *1CH 1,000 0 1,000
—ES21t 282 1,000,000 #5CH 5,000 0 5,000
202 044l 680 1,080 A400




M S3E0
M AHHZHI(BHZSE ) (OIEH/DIE
Chel: J1=2 &l EER=E)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hlunsz
01 2UHo4 680 1,080 2400
O4lHI2] BIZd =H SAHA 044
ZH20,000&«34H 680 1,080 A400
=2l (83 EME) 10,314 0 10,314
201 Lt 3,456 0 3,456
01 At 2tel| 3,456 0 3,456
OstZ&H AREZX S|
8,000 x6H x60 ! *80% 2,304 0 2,304
OYRFZX ANREE 7Y
20,0002 x6%H 1274 2 +80% 1,152 1,152
202 o4t 6,858 6,858
01 =2Ujoit| 6,858 6.858
OHZEH HRF4N 2 SEOHI
20,0003 x6 2 *92 «12J0 2 +30% 3,888 0 3,888
Ost2E & ARFZX 22| EF0i|
110,000 6% x32 x53| *30% 2,970 0 2,970
Jl2ddl(erdzelg) 6,453 0 6,453
201 L2 | 1,728 0 1,728
01 At22telt] 1,728 0 1,728
Otz e g2FX =]
8,000 *3Z x60 ! *80% 1,152 0 1,152
OYRFZ AMNREE 7Y
20,0003 *3Z 1200 2 x80% 576 0 576
202 04d| 4,725 4,725
01 =WOdbI 4,725 4,725
Ostgae| HRF8 2 X0
20,0002 *3H 152 * 1201 2 *30% 3,240 0 3,240
Ostgae| gRF48 22 SEOI
110,000 *3% *32 +53| *30% 1,485 0 1,485
I3 (23 MEHE) 8,892 0 8,892
201 Ler2 | 4,608 0 4,608
01 At 22|l 4,608 0 4,608
OstZ AL |HE RN S
8,000& 7 H+602 «80% 2,688 0 2,688
OYRFZA ANREE 7Y
20,0002 * 10 1201 2 x80% 1,920 1,920
202 04t 4,284 4,284
01 =WHO4 LI 4,284 4,284
Otz atelde YRFE 2 SE0
20,0002 *7 B3 1204 +30% 1,512 0 1,512
Otz ate|dE HRFE 22 SE0
110,000& *7 B 3 x43|*30% 2,772 0 2,772
JlzZl(st+=E29E) 0 7,488 NT,488
201 Ler23| 1,728 AN1,728
01 Ar2eltl 1,728 A1,728
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A B3
A HZYRAZH(BFE W) (OIE/IIE
Chel: J1=2 &l EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
Odt=E288 g0 S|
0 0 1,152 A1,152
Odl+= 2488 HIRFU MNRES 7Y
ZE0E 0 576 A576
202 044l 5,760 A5, 760
01 =LH0i 5,760 25,760
Oodtl=C 288 HRFA 2U SZ 0
JE0H 0 2,592 N2,592
Odl+= 2488 HIRF4 22 S0
80 0 3,168 N3,168
Jl2dbl(st==4) 17,676 8,838 8,838
201 fer= 3| 3,456 1,728 1,728
01 AtR2tc|HI 3,456 1,728 1,728
Ott=Z A E HPFE S|
ZE8,0002 x6B 60 #80% 2,304 1,152 1,152
Odt=ZAIEE g2Fd ARES 7Y
20,0002 +6H #1201 2 80% 1,152 576 576
202 Ot 14,220 7,110 7,110
01 =LioiL 14,220 7,110 7,110
Odl=TAIEE H2F 2 SZ 0
ZE20,0003 6B 12IH 2102 +30% 4,320 2,160 2,160
Odl=TAIEE HRFA 22| SF 0
ZE 110,000 6B +53| x 102 *30% 9,900 4,950 4,950
Jl=2Zb(SRAZ22R) 1,944 648 1,2%
202 04t 1,944 648 1,2%
01 =LHoi 1,944 648 1,296
OZ2% 22X 2 SZ0]
20,0003 x9S +3L + 1270 2 +30f% 1,944 648 1,29
Nees(ed-2n)(LeS3AY/ME - 28) 7,460,836 7,430,836 30,000
WEHAHXIE 7,460,836 7,430,836 30,000
WRHAHXI= 7,460,836 7,430,836 30,000
RIISEE3 30,000 0 30,000
01 JISdE=2 30,000 0 30,000
Ost@zelde FeUXRIIZ &HS(HDI2
Bl 4==>2 2] 10/100) 30,000,000& 30,000 0 30,000
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